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L2(1.4)Solving Linear Systems by Substitution

Given y = 2x + 3, what does it mean if:

(@) x=-1 (b)y=7

(C)y=x-1

Fob 8201

solve graphically

Given y = 2x + 3, what does it mean if:

(@) x = -1 i
= Z(-l}J"S 6_
--7_4'3 5
= | N

(b)y=7

y=2x+3

(23

solve graphically
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Given y = 2x + 3, what does it mean if:

(c)x=y+1

3‘= 2 34’%—\-}
\é =2.3 +2+3

%=‘2§+§

lj =-S — sub Who

x:“3+\
=S +|
x=-Y

solve graphically

Solving Linear Systems by Substitution

Graphically, the solution to a system of linear equations
is the point(s) where the lines intersect.

Algebraically, we can:

1. isolate one variable in one equation.
X = o B = e
2. substitute the isolated variable into the
other equation.

3. solve for the single variable.

4. sub the answer from step 3 into the isolated
equation from step 1 to find the other variable.
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Ex.1. Solvey=§-2andx= - 2.

Sub the x-value from the second equation into the first equation

a litHe easier
@: x=y-2
MO x=(3x-2)-2

=32~
x=3e-4
" =3
e Sub =2 wis ()
2=2\ —> x=
(%=2\ e
4=3(2)2
4=4-2

SR sefudhion (Z)Q
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Ex.1. Solvey=3x-2andx =y - 2.

b
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Ex.1. Solvey=3x-2andx=y- 2.
The solution is (2,4), orx =2 and y = 4.

To perform a formal check of the solution, sub these

values into each equation and compare sides.

y=3X-2
Ls=4y RS=3x-2
= :3(2)-2
=L-2

X=y-2

[S=%x RS= Y-z
=2
=4-2

=2
(s=rs v/~
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Ex.2. Solve 2y =x+ 5and x-4y =0.

How do we decide which variable to isolate first?

@-‘25=z+§‘
75 =
S ©) L @)

-4y4=0 Sub y=-2
C59dy=0 ([ we®
y~S-y=0 N>r=24-S

N x= 1y
-25-§-0 x=2(-£)-

S=1 z:.igg_

=,

=5 e

z=-10
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Assigned Work:

p. 39-40 #(3, 4bf, Sbe,)6, 8, 9bcef
]

b
5 T Ui Popaa Spechamie
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ALY br+3s=9 ,sow for
br=—-3s +9

—_—

b b ”z

:"‘%_4. i? \/@
|
T (‘=~—z—s ‘\-:;i
3
*lope her,
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YD) Zz#$=S@ }t-‘ﬁs-l‘s @

@: 2x+ Y =C
Y=-22+S @
Suh @) wh @

=
= + % —_._l|§' - l};
Tx =28

+ =

==

Sk %=y cato @
5':-7.1'!-5'
Yy=-2(drs
y=-21§

<A seudion i (‘{;‘S\
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X0 ?=5+40 Bty =l @
Ohreads isebaked |
subD ks @ § Sub Y=t wh O
311-\5 =1lb z=g+'~}
Syt § X2

33-\-\2+ﬂ=|5
R E SO

g
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Y mofs = Y20 |
p foved
months = 795 Charge

Lt 2 be He mont, ch
Let (j&.-f(.e—ﬁxu(eolw;z‘
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